1. Write the equation of the line graphed below in slope-intercept form f(z) = max + b.
. AY

E. f(z)=-2z—1

F. f(z)=322—-1
G. f(z)=-3z—1

H. f(z) =3z +1

2. Determine the slope and y-intercept of the line 4x — 4y = 6.
A. The slope is (07,%) and the y-intercept is 2.
B. The slope is (0,2) and the y-intercept is —%.
C. The slope is (0,—2) and the y-intercept is 3.

D. The slope is 2 and the y-intercept is (0,—%).
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E. The slope is —% and the y-intercept is (0,5).

F. The slope is f% and the y-intercept is (0,2).

G. The slope is 1 and the y-intercept is (07—%).

H. The slope is (O,%) and the y-intercept is —%.
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Calculate the slope m of a line passing through the points in the table:

. Undefined

(@21

Bl el

=5

=] | o] [ =] ]



4. Find the z and y-intercept of the line 4z 4+ 2y = —2 and use this information to plot a graph of this line.
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5. Write the equation of the line.

A2

A.y:%fo
B.y:—%x—i—Q

Cy=-2z-2

D.y=0

E.x=-4

F.z=0

G.y %x +2

Hy=-4

6. Use the given table of values for a linear function to determine the equation of this line in slope-intercept
i
A7

form 2|10
31
EIiC

A. The equation of the line is f(z) =3z — 3.
B. The equation of the line is f(z) =—3z + 5.
C. The equation of the line is f(z) =3z + 4.
D. The equation of the line is f(x) =—3x + 2.
E. The equation of the line is f(x) =3z + 3.
F. The equation of the line is f(x) =3x.

G. The equation of the line is f(x) =—3x — 5.






. Find the x and y-intercept of the line 2z 4+ 5y = 8.

. The z-intercept is (4,0) and the y-intercept is (1.6, 0).

. The z-intercept is (1.6,4) and the y-intercept is (4, 1.6).
. The a-intercept is (4,1.6) and the y-intercept is (1.6,4).
. The z-intercept is (4,0) and the y-intercept is (0, 1.6).

. The a-intercept is (0,4) and the y-intercept is (0, 1.6).

. The a-intercept is (0,1.6) and the y-intercept is (4, 0).

. The z-intercept is (1.6,0) and the y-intercept is (0,4).

. The a-intercept is (0,4) and the y-intercept is (1.6, 0).



8. Find the x and y-intercept of the line § + £ = 1 and use this information to plot a graph of this line.
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